09.14.17

Mount'n Mover

Full Eval Kit Inventory Checklist

Download form at: https://mountnmover.com/products/eval-kits/full-eval-kit

EVAL-F CHECKLIST
PART NUMBER / DESCRIPTION

Qry

Arms

M1-TQ-L - Single Arm Mount'n Mover with Low Tilt Resistance

M2-TQ-H - Dual Arm Mount'n Mover with High Tilt Resistance

Device Mounting
Brackets and Trays

DP-PRC4 - QRM Device Plate with Mounting Hardware and Instructions

MEF-27 - Device Plate for DP-DV1 Dynavox Devices and DP-PRC1 for PRC Devices

MF-31 - Adapter Plate for DP-T1 Tobii/EZComm (4" x 6")

MF-67 - Device Plate for DP-T2 Tobii |-Series

MF-72 - Device Plate for DP-MULTI1 Tellus/Mobi/Rolltalk/AMDI/T3/VESA

TR-12x16 - 12"x16" Tray w/ Lip (w/Attachment Screws)

TR-iTab - iPad Tablet Tray

DP-UR - Universal Rotator with Mounting Hardware and Instructions

Wheelchair
Mounting Plates

MEF-3 - L-Angled Extension Plate for WC-LAE

MF-19 - Adapter Plate for WC-AP (1-3/4" x 3")

MF-30 - Adapater Plate for WC-AP2 (2-1/4" x 4-3/4")

MF-52 - Adapter Plate for WC-AAP Angle Adjust (7.5 Degree)

MF-60 - Adapter Plate for WC-AP4 (3-1/4" x 2-1/4")

W(C-Coved-1 SET - 1" Tube Coved Spacer Kit Set of 2 with Instructions

WB?2 - Solid Wheelchair Bracket

Misc

P12 - 12" Square Post

P18 - 18" Square Post

PP-CASE - Heavy Duty Molded Case

TC - Table Clamp

701-001-000 - Demo/Evaluation Kit Instruction Manual

Hardware Box

900-001-000 - Demo/Evaluation Kit Hardware Box

EX-RC100 - Round Tubing Clamp for WC-R1

EX-RC100-B - Ex-Round Clamp 1"x .875 for WC-R1B

EX-RC875-B - Round Tubing Split Clamp 7/8" x .875 for WC-R7/8B

Mounting
Brackets

EX-RCL875 - Round Tubing Clamp 0.875" X 2" for WC-R7/8

HC-NUT-D - 1/4-28 X 3/8" T-SLOT ZP for WC-TN

010-040-000 - Plastic Molded Box

701-002-000 - Laminated Hardware Reference (Inside Box Cover)

Misc.

DAH-HEX KEY SET - 1/16" and 3/16" Hex Key for MnM

NiR|Rr[Rr|IN]B[S|IN[R| R RPN RRr| RPN R RRr|R[R| R R, R~

HS-NUT-A - 1/4-28 X 5/16" NYINS Zinc Pated Grade 5 Steel

[y
o

HS-NUT-G - M6-1 X 10mm Square Nut Steel

HS-SCREW-A - 6-32 X 1/2" PH FL SS

HS-SCREW-B - 8-32 X 5/8" PH FL S5

HS-SCREW-BBB - 8-32 X 1" PH FL SS

HS-SCREW-CC - 8-32 x 3/16" PH FL SS

HS-SCREW-DD - M6-1 X 14 HEX SOCKET CAP SCREW 18-8SS

HS-SCREW-EE - M6-1 X 45 HEX SOCKET CAP SCREW 18-8SS

HS-SCREW-F - 1/4-28 X 2 1/4" HEX SOCKET CAP SCREW 18-8SS

HS-SCREW-G - 1/4-28 X 5/8" HEX SOCKET CAP SCREW 18-8SS

HS-SCREW-GG - M4-.7 x 16 PH PN SS 18-8 SS

HS-SCREW-II - M4-.7 X 14 PH FL SS, ZINC PLATED

N[ |p|lO|wW(A_[AUO|D|W|(>

HS-SCREW-1J - 1/4-28 X 1/2 HEX SOCKET CAP SCREW 18-8SS

Juny
o

HS-SCREW-LL - 1/4-28 X 7/8" HEX SOCKET CAP SCREW 18-8SS

HS-SCREW-MMM - M4-.7 x 10 Pan Phillips, Zinc plated Steel

Hardware

HS-SCREW-NNN - M4-.07x16 Screw

HS-SCREW-00 - 5/16-18 X 1" Hex Socket Cap Screw 18-8SS

HS-SCREW-PP - M4 x 10mm, .7 pitch, PH FL SS

N~ | &[0

HS-SCREW-T - 8-32 X 1/4" PH FL SS Undercut Head

[y
o

HS-SCREW-TT - M4-.7 x 25 PH FL Screw

HS-SCREW-UU - M5-.8 x 12mm Hex Socket Cap Screw 18-8SS

HS-SCREW-V - 8-32 X 3/8" Flat Undercut Head, Phillips Drive, 18-8 SS

HS-SCREW-Y - 8-32 X 3/8" PH PN 5§

HS-SPACER-A - 1/4 1D x 1/2 OD x 5/8" Length Nylon Spacer

HS-SPACER-H - #8 ID 3/8" OD, 1/8" Length Nylon Spacer

HS-SPACER-K - #8 ID 1/4 OD x 11/16" Length Nylon Spacer

HS-WASHER-B - Washer, Flat, Nylon, White 1/4"

HS-WASHER-L - Washer, Flat, Zinc-Plated Steel, M7

BIN|A|R(WIN|A|A D




	EVAL-F PARTS CHECKLIST

